H & 0l & AHS B Ml A

ZHEAHIA 2 (EA
Chel: FOISTIEY (Etel:&9)
SA - ZE - SA(FH) - AIRAY - BES Oi &k N3 A Hwsz2
g 2,228,891 2,179,891 49,000
JIEMEAHIA LSHEHS) 2,081,135 2,082,135 49,000
FoI=T a4y 1,118,257 1,117,257 1,000
ANEEXLR FA 4,960 3,960 1,000
201 Ler2 | 4,840 3,840 1,000
® 2229 3,840 2,840 1,000
oorl2sl17 |z
ZE 250,0002 80 2,000 1,000 1,000
FoISANY 962,878 914,878 48,000
FoI=AAY 603,600 603,600 0
401 AlZHIL S HY] 603,600 603,600 0
01 AlZH] 600,000 600,000 0
OO AIDFS HH42 R HIZ AHL=200m)
ZE 22,000,000 % 14! 22,000 40,000 18,000
O%H0IS o4& FHIZAHL=150m)
23 27,000,000 %14] 27,000 40,000 13,000
OIS ZEE THEETAHAS.5)
ZF 27,000,0002%14] 27,000 40,000 13,000
OS20t2 THEZZAHAS.5a)
2y 0 0 30,000 30,000
O=A0H2 212 FHIZAHL=50m)
Ay 0 0 10,000 10,000
OABIOFS ot THEAZ AHA=a)
ZE 24,000,0008%14] 24,000 30,000 26,000
OBR0IS tH42 =HIZAHL=100m)
ZF 26,000,0008%14] 26,000 40,000 14,000
Odt=ots or2 FHISAHA=1a)
Ay 0 0 10,000 10,000
OUSOHE 212 HHIBAHA=2.4a)
23 34,000,000 34,000 30,000 4,000
OB0tS 012 THEAZAHA.5)
ZH 56,500,000 *14] 56,500 40,000 16,500
OXIZOIS 142 HHISAHL=30m)
213 18,000,000 *14] 18,000 10,000 8,000
O&A0IS 42 FHIZAHL=50m)
23 31,000,000 *14] 31,000 20,000 11,000
OA20t2 22 HHIBAHAS.5)
2% 38,000,000 *14] 38,000 30,000 8,000
OHIZI0FS HH42 FHIZAHL=100m)
23 18,000,000 *14] 18,000 40,000 22,000
OZJI0+2 o2 THEAZ AHA=a)
23 34,000,000 *14] 34,000 40,000 26,000
O5tS0H2 ot2 LA T AHASa)
2 33,000,000 *14) 33,000 20,000 13,000
OLE=0tS AR Z Y| ZAHL=135m)
26,000,000 % 14! 26,000 0 26,000
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S - BE - BI(3) - NRAY - BAS O] a0 ol H o CImE==
O3 0ts ot HHIZBAHA=2.3a)
42,000,000 14 42,000 0 42,000
OF =0t o2 HHISAHL=19m)
13,500,000 & * 14! 13,500 0 13,500
2 sz 236,819 200,819 36,000
201 23| 236,819 200,819 36,000
01 AFS2teltl 56,024 53,024 3,000
OJIzS(BotS) sl
2 & 56,024,000 56,024 53,024 3,000
02 E324Hl 180,79% 147,7% 33,000
OJlzE(BtE) ®II23
Z & 180,003,000& 180,003 147,003 33,000
THtTHOH CHB 36,784 34,784 2,000
206 =4l 4,000 2,000 2,000
01 M=l 4,000 2,000 2,000
OM&ds gazs 7Y
Z& 10,000 400 4,000 2,000 2,000
ot 2el 85,675 75,675 10,000
401 AIEHIZL 28I 85,675 75,675 10,000
01 AlEHI 85,000 75,000 10,000
Odt= =& Z & 85,000,000 14! 85,000 75,000 10,000




